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Solving Logarithms Practice Problems
©T q2F0f1k6k oKnu]tHaB kSCoIfit^wravrYeF sLqLOCZ.x f kAFlYli ^rHiRgChGtZsm urTeqsZedrxvqeCdy.

Solve each equation.

1)  3 log
11

(2n + 1) + 6 = 6 2)  -1 - 2 log
6

(8v - 9) = -5

3)  -1 - 3 log
11

(9 - 4b) = -1 4)  10 - 3 log
5

(-9x + 6) = 4

5)  -8 - 10 log
8

(2 - 7n) = -18 6)  -3 - 10 log
11

(-2v + 1) = -23

7)  -9 log (9n + 9) - 1 = -28 8)  3 log
11

(-5n + 6) + 2 = 14

9)  -8 - 5 log
2

(3n + 7) = -23 10)  -3 - 5 log
12

(-4n - 4) = -8
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Answers to Solving Logarithms Practice Problems

1)  {0}
2)  {45

8 } 3)  {2}
4)  {- 19

9 }
5)  {- 6

7} 6)  {-60}
7)  {991

9 } 8)  {-2927}

9)  {1

3} 10)  {-4}


